Q=What exist between the coordinates of the vertex and the equation axis
of symmatry? - ..

the axis of symmatry is the x-coordinate of the vertex

= How many x-intercepts can a parabola have?

A= at the most 2
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X+3)*-9=0

b har MIWA 15 Fagkest Foo SoWing Tollowing equarion ?
By vl D

1. Fina the golunon o W egamiorn, 5 U\S"ﬂﬁ YO € Cvom Nt a0




Chapter 4

point Nopa foem )

pUT 910pT N (

Lbsli~2)8 e ) % USL
= \32 ) \/ \
NWL for ¥ (fwo Anoives ) Xz < %

2 2 —admi=-63 Y. 2. ceYen

Fino X INKeeprs

S V=EXT + Bx - \O

NNk N Gamphiest Aadicd) Form
. Ja8 + Vg

0o of SQUORIS %’\\JQI\ TFind A oF sic
o in©

s |

Mot A gSkeron marehes OROMATTI( 3y Miools
| ARST & gy




Chapter 5

Fingd X ) can g aion

L ADs.s JOLEES AN e 3. ~bx-1S =Qx T35

) ”J’x'—g = 47




